B7KBILEDR RS A b /B/KBILED T8 SE8E/
Waterproof LED Spotlight
NLS03 ¥U—X/NLS03 3%1/NLS03 series

Hulsh S
{#EAREAE / User Manual
UM-017 Ver.01

LHERZBEV EIFTEEHONESTEVET, HEtBEE R(BFHHEEFIELBBELKIZE,
IR RSB EARNTINER. BFEEARAER Rt ERARNESR,
Thank you a lot for purchasing our products. Read this manual carefully before use.

X B2EDOITEE BIHTHES / RLFEEBIE AHYEST / Safety Precautions Please be sure to observe

DR

&

& / Warning ]

[A i & / Attention ]

1. RERODEFASIRIHEITEITT 2V, FEREF10RD. %>
ZiRHDZFDOITREFIKIEZIERD, BIERORRITIZNFTOT
HEXTSIBELF TIZEL,

SEDBITIRAR. (BIRARE G, MR RRIER. FRERRETR,
DASIE AR BHK A RSk E SRtsPE

Do not dismantle this product to fix or analyze. Do not
pull wires or lossen screws in order to avoid loosing
waterproof function and arising product failure.

2. AER(FIE TR THD. BREIUCTL TS TR TY . BURL\D
BRICIETDRERER. Y-S0 HRE T O THEERIKIZE,
AERALREME RN E T ER. (EAREFMRITERE.
ZERBIBAEE.

This product is composed of electronical parts which is
sensitive to static electricity, the protections of satic
electircity and surge are required for use.

3. BEAROBRICFEIRNOFFICIROTLS I EZFEERL TH'S, 96.5-7.0
OF-7" W CEEHFEITOTIZEL, ELAREV\OEVR, BREREZO
BABTHDIIA(+)ERATFTA(— )%, R BRIITOBEEEZ+H(C

SUBCHRZITOTTFEL,
AR ERARMKAEZELUE6.5-7 . 0NERE TR &
BRIEHER, ARV ARERSERREESEE, SRAE
EEREEER.
Confirm to switch the power to off status first, then
using the attached standard wire to install. For avoiding
installing wires wrong, please be sure to check the DC
and deputy polarity(+ or -), then installing afterwards.

4. AHEOBIROWE (FRIEEDILZ. JNWFINBREFERALTVED,
R — 5 Me(ESIR AR BRICEEFTHRVEDEIZE,
BRFRI-70 MBREEROERC LD AR O EFEL
TSR OFEEIIRDET
ARELRIGEMEIMERPVCHME, ORERANBRME. HARER
FRESTRUIEIRES, S57EEFAREMEEISErTa5. RERAR
S nalREEER ERHIER, SHABENBRKINEESE

8, BIRTTREZEZA.
The wire sheathing and gasket for waterproof sealing
are PVC and NBR, respectively. Please contact the sales
office in advance if the special coolant system will be
used. If a waterproof function is spoiled by the use of
chlorine-based coolant or the corrosive material, it
becomes out of the range of the guarantee.

1. LEDRFICIFEAEOFESIENHNFT . A—HA TEEREBIC
DINRENEEFTOTS THERREVET,
LEDZTHXABEEEE. BMEERE 85, SEHRTE
BLRE FHEREER,

There is color difference in the body of LED prime sub-
light. Even if it is the same type, every single product
has slightly visual color difference.

2. EFREEHE (-1 0°C~40C) FEIFoTTFE,
EBWESTHERREEE(-10°C~40C).

Please be sure to obey the use range of temperature
(-10C~40%).

3. 1R8). BEOZVGFTTORE. ERAGEITTEL.
EAER. ERREE S AHERSHIRIET,

Please do not place and use in the high vibration and
bump place.

4. FAEZBEEREE(CEREREFEIDNIGHOET . AICERSIL
TEDAREZAFRVEIICLTTE,

BEREEEEEEAIRERE . AP ERAERSISNER
HEm it ABRED.

It might cause eyes damaged, if you look at the
lighting surface directly.Please do not look at this
product directly or take it to light others eyes.

{118/ #Hg/ Specification

TEASET /58 BB /Rated voltage: 24V DC / AC100V
{REEEHR/Protection level : IP65

@IRE/i8/Color temperature : 5700K

{EFRE/ TERRE/Operating temperature : -10°C~40°C
&Ei#R/Power cable : DC / AC 3m (VCTF0.75mm2x2C)

B/ B8 / Model | JHEEH/HETHE/power consumption
NLSS03C-DC 5w
NLSS03C-AC 6W
NLSMO3C-DC 5W
NLSMO3C-AC 6W

P.1



« NLSSU—-ZXHfdA 7% / NLSHRIIEZESZE / NLS series installation method

NLSS03-DC/AC NLSMO03-DC/AC
320° az0 @D
P66 63
7any i
\L/ |
o T TEN
g Ko 25
g LO'_ @ )| <l
[l ] g : = ¢I H; s
195 060 3M |

(A) BEigETAZE / BIZEREE / Directly fixed manner

£
- 435 )
FEEMTIOIREERZRO L. M6DRSTERFRVMRLOMEBELTTFE, ﬁy
REANBENFFSRBRAE, UMOIRHMEHEE T IEME., ¢ &
Tp!
Please refer to the form, using M6 screws to tighten and fix to prevent ~ R R [E
& ]

from dropping while installing this light.

(B)NL-23Hu4753% / NL-23ElE#% / Fixed with NL-23

1B S 2P ROAEICS A MAAZASEL TLBME-35mm ORILRT 51 MY 5D
WMRVER LoDMDEBAFIFITTEL,
BB EESR, FEAMERIME-35mmiRttiise BN HER GBI RIIAR,
To avoid lights shaking, please use attached M6-35mm screws to fix the
light body at A surface of the picture.
51 hEAFZEUT UL VISFRICBEIO@DICTVZR T RILRTULOMDEBEELT FaEl,
SEIRBETEAR R SR TP FRIRFR IS B B AL,

Please follow B surface to make a hole which you want to install and fix

N

the light with screws.

(C) AL-28BEY{¥757%/ NL-28BElEZ / Fixed with NL-28B

1. AL-28BICM6DR T THEFBURLONE ELT TS,
SERMEIRFHEHEREIENNL-28B L.

Please use M6 screws to fix on NL-28B -

2. AL-28BROEDIENA42mmHDEIDT. DEDIROEIGFATHNEFECTE BUSIITEFT,
TOBR(Z, FHEDOEHANIL NTTA MR DM SONMBUVRUONDEETEL TFEL,
NL-28BMIROEA42mMmME, SRR SILERNAEE R AT EnFRRE
EREARBENEEESR,

There is 42 mm width in the openings of NL-28B, so if the place can match the

width, it can be used.While installing, please use your hand to turn the screw pole

and fix the light to avoid shaking.

AN T 550-0003 AT RENE_T H6-28
I TEL:06-6225-2855 FAX:06-6225-2856
n https://www.nikki-tr.cojp  e-mailinfo@nikki-tr.co.jp P2



B7KBILEDR RS A b /B/KBILED T8 SE8E/
Waterproof LED Spotlight
NLSO05 ¥U—X/NLS05 3%1/NLSO5 series

Hulsh S
{#EAREAE / User Manual
UM-018 Ver.01

LHERZBEV EIFTEEHONESTEVET, HEtBEE R(BFHHEEFIELBBELKIZE,
IR RSB EARNTINER. BFEEARAER Rt ERARNESR,
Thank you a lot for purchasing our products. Read this manual carefully before use.

X B2EDOITEE BIHTHES / RLFEEBIE AHYEST / Safety Precautions Please be sure to observe

DR

&

& / Warning ]

[A it & / Attention ]

1. RERODEFASIRIHEITEITT 2V, FEREF10RD. %>
ZiRHDZFDOITREFIKIEZIERD, BIERORRITIZNFTOT
HEXTSIBELF TIZEL,

SEDBITIRAR. (BIRARE G, MR RRIER. FRERRETR,
DASIE AR BHK A RSk E SRtsPE

Do not dismantle this product to fix or analyze. Do not
pull wires or lossen screws in order to avoid loosing
waterproof function and arising product failure.

2. AER(FIE TR THD. BREIUCTL TS TR TY . BURL\D
BRICIETDRERER. Y-S0 HRE T O THEERIKIZE,
AERALREME RN E T ER. (EAREFMRITERE.
ZERBIBAEE.

This product is composed of electronical parts which is
sensitive to static electricity, the protections of satic
electircity and surge are required for use.

3. BEAROBRICFEIRNOFFICIROTLS I EZFEERL TH'S, 96.5-7.0
OF-7" W CEEHFEITOTIZEL, ELAREV\OEVR, BREREZO
BABTHDIIA(+)ERATFTA(— )%, R BRIITOBEEEZ+H(C

SUBCHRZITOTTFEL,
AR ERARMKAEZELUE6.5-7 . 0NERE TR &
BRIEHER, ARV ARERSERREESEE, SRAE
EEREEER.
Confirm to switch the power to off status first, then
using the attached standard wire to install. For avoiding
installing wires wrong, please be sure to check the DC
and deputy polarity(+ or -), then installing afterwards.

4. AHEOBIROWE (FRIEEDILZ. JNWFINBREFERALTVED,
R — 5 Me(ESIR AR BRICEEFTHRVEDEIZE,
BRFRI-70 MBREEROERC LD AR O EFEL
TSR OFEEIIRDET
ARELRIGEMEIMERPVCHME, ORERANBRME. HARER
FRESTRUIEIRES, S57EEFAREMEEISErTa5. RERAR
S nalREEER ERHIER, SHABENBRKINEESE

8, BIRTTREZEZA.
The wire sheathing and gasket for waterproof sealing
are PVC and NBR, respectively. Please contact the sales
office in advance if the special coolant system will be
used. If a waterproof function is spoiled by the use of
chlorine-based coolant or the corrosive material, it
becomes out of the range of the guarantee.

1. LEDRFICIFEAEOFESIENHNFT . A—HA TEEREBIC
DINRENEEFTOTS THERREVET,
LEDZTHXABEEEE. BMEERE 85, SEHRTE
BLRE FHEREER,

There is color difference in the body of LED prime sub-
light. Even if it is the same type, every single product
has slightly visual color difference.

2. EFREEHE (-1 0°C~40C) FEIFoTTFE,
EBWESTHERREEE(-10°C~40C).

Please be sure to obey the use range of temperature
(-10C~40%).

3. 1R8). BEOZVGFTTORE. ERAGEITTEL.
EAER. ERREE S AHERSHIRIET,

Please do not place and use in the high vibration and
bump place.

4. FAEZBEEREE(CEREREFEIDNIGHOET . AICERSIL
TEDAREZAFRVEIICLTTE,

BEREEEEEEAIRERE . AP ERAERSISNER
HEm it ABRED.

It might cause eyes damaged, if you look at the
lighting surface directly.Please do not look at this
product directly or take it to light others eyes.

{188/ M8/ Specification

T EE/48EEH/Rated voltage: 24V DC / AC100V
{REER/Protection level : IP67

RE/&i8/Color temperature : 5700K

fERRE/ TERE/Operating temperature : -10°C~40°C
&#R/Power cable : DC / AC 3m (VCTF0.75mm2x2C)

A/ 85K / Model | &R/ HEIIE/power consumption
NLSS05C-DC SW
NLSS05C-AC 6W
NLSM05C-DC 5w
NLSMO5C-AC 6W
NLSLO5C-DC 5w
NLSLO5C-AC 6W

P.1




« NLSYU—-ZXEifdAiE / NLSRIIMEZLELAE / NLS series installation method

NLSS05-DC/AC NLSMO5P-DC/AC (h/{12J°/EE/ round tube)

. 745

GED sy

(205.5)

195

(A) EiEEYTAE / BIEEIEE / Directly fixed manner
EITIORIERSERO L, MEORITEERIMRLONMEEIELTTEL,
REKNBEIFFSRAE, UMOIRHHEEER LARTE.
Please refer to the form, using M6 screws to tighten and fix to prevent from dropping while installing this light.

(B)NL-23EMd75% / NL-23ElEZE / Fixed with NL-23

1. BT FTICERIOARICSA MAARZFBLTLBM6-35mm ORILRT 545D MRUVER LonDEEMFFTTF L,
Pt EiER, AEAMIERIME-35mmiRitiise B et ENA BT REIAE,
To avoid lights shaking, please use attached M6-35mm screws to fix the light body at A surface of the
picture.

2.54 hEEZEUTI U\ MBRRICBE OIBD(CTVERE I, MILRTUONDEEIFELT Fal,
SEIRBETEM R BT IR B EHE.
Please follow B surface to make a hole which you want to install and fix the light with screws.

(C) AL-28BHYT753%/ NL-28BEEZE / Fixed with NL-28B

1. AL-28BICM6DA S THBERUMRULONE ELTFEL,
SEFAMOIRTH SHEEE TEMNL-28B L.
Please use M6 screws to fix on NL-28B -

2. AL-28BFOEDEN42mmHBDEI DT, OEOIEROESIGFITHNEECTE BUTITEET ZORIC. FHEo
OFHARILNTSA NRIR IS DONMRMELODMEBIEL T2,
NL-28BHIBIOEEH42mmE, ARSI EREN M. RENEFEIEHIMPRE TR EA RS R EHIER.
There is 42 mm width in the openings of NL-28B, so if the place can match the width, it can be used.
While installing, please use your hand to turn the screw pole and fix the light to avoid shaking.

AN T 550-0003 ARRHFERRENE_T H6-28
I TEL:06-6225-2855 FAX:06-6225-2856
n https://www.nikki-tr.cojp  e-mail:info@nikki-tr.co.jp

P.2



	NLS03 取扱説明書 UM-017(中英日)_2023-03-29
	NLS05 取扱説明書 UM-018(中英日)_2023-03-29

